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// TOER 00O 0O

// 00000 TI0C4DO TIOC4CO T10C3DO TI0C4BO

// TIOC4ADTIOC3B DO O ODODOOOOOOOODOODOO

// *0000000TOER OO0 O0O0O0OOO0OO000O0O0O00O0O0O0000O00OOO*

// 0000304 00000TCER ODODOO3D40TIROOOOOOODODOOOOODODO

MTU2S.TOER.BIT.OE4A =
//NTU2S.TOER.BIT.OE4B
//NTU2S . TOER.BIT.OE4C
//MTU2S.TOER.BIT.OE4D
//MTU2S . TOER.BIT.OE3B
//NTU2S.TOER.BIT.OE3D
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STB.CR3.BIT._MTU2S = 0; /* MTU2SO OO ODOOOO */
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PFC.PDCRH3.BIT.PD27MD = 0x5; /* PD27=TI10C4AS(0b101) */
PFC.PDIORH.BIT.B27 = 1 ; /* TIOC4AS is OUT */



MTU24A0 0000000000000 00ooooodg

STB.CR3.BIT._MTU2S = 0; // MTU2sO O OO 0OO0OOO
MTU2S.TSTR.BIT.CST4 = 0 ; // TCNT4 STOP

MTU2S4 .TMDR_BIT.MD = 0x0 ; // MTU2S4:NORMAL
MTU2S4_TCR.BIT.TPSC = Ox2 ; // CLK = P¢@ div 16
MTU2S.TOER.BIT.OE4A = 1 ; // *0 00000000 *
MTU2S4_TIOR.BIT.I0A = 0x3 ; // 3 - TIOC4AS: OO0 O, TGRA OO O OOODODOOOO (0b0011)
MTU2S4.TCR.BIT.CCLR = 0x1 ; // 1 - TGRA DODOOODOOODOOO
MTU2S4.TGRA = (O OODOOOOO ) ; // 00000000
MTU2S4.TCNT = 0x0000 ; // OOOOO 0O

MTU2S.TSTR.BIT.CST4 = 1 ; // OO OO

PFC.PDCRH3.BIT.PD27MD = 0x5; // PD27=T10C4AS(0b101)
PFC.PDIORH.BIT.B27 = 1 ; // TIOC4AS is OUTPUT
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